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Seasonal Annual: Total Annual Precipitation-  Illinois 
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Linear (Spring)

Linear (Summer)
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R² = 0.0234 
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Year 

Season Annual: Total Annual Precipitation - Indiana 
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Linear (Spring)

Linear (Summer)
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Season Annual: Total Annual Precipitation - Iowa 

Spring

Summer

Linear (Spring)

Linear (Summer)



y = 7E-05x + 0.1592 
R² = 0.0021 
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R² = 3E-05 
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Year 

Season Annual: Total Annual Precipitation - Michigan 

Spring

Summer

Linear (Spring)

Linear (Summer)



y = -1E-05x + 0.3817 
R² = 4E-05 

y = -0.0002x + 0.756 
R² = 0.0094 
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Year 

Season Annual: Total Annual Precipitation - Minnesota 

Spring

Summer

Linear (Spring)

Linear (Summer)



y = -1E-05x + 0.3518 
R² = 5E-05 

y = -0.0002x + 0.7393 
R² = 0.0174 
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Year 

Season Annual: Total Annual Precipitation - Missouri 
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Summer

Linear (Spring)

Linear (Summer)



y = 0.0002x - 0.0901 
R² = 0.0158 

y = 6E-05x + 0.1555 
R² = 0.0017 
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Year 

Season Annual: Total Annual Precipitation - Ohio 

Spring

Summer

Linear (Spring)

Linear (Summer)



y = 2E-05x + 0.2862 
R² = 0.0002 

y = -1E-04x + 0.5461 
R² = 0.0026 
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Year 

Season Annual: Total Annual Precipitation - Wisconsin 

Spring

Summer

Linear (Spring)

Linear (Summer)
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